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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 3903 3.4 1.4 6 56.1 99.8
2 3894 4.2 1.9 8 52.8 99.5
3 3889 3.4 1.6 8 42.2 99.4
4 3898 5.5 2.3 12 45.6 99.6
5 3891 6.5 3.6 16 40.4 99.5

SPaG 3895 2.2 0.9 3 74.8 99.6
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GCSE HISTORY UNIT 2 (STUDIES C) 

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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QUESTION 4


	 This question is about the Nazi consolidation of power in Germany.


	 Study the sources below and then answer the question which follows.


	 Source C


[A Nazi poster for the March 1933 election. It shows President Hindenburg and Hitler, 
asking voters to ‘Fight with us for peace and equal rights’]


	 Source D


Listen! Read! Pass it on! Hitler’s Crimes!


In Berlin alone thousands of Social Democrats and Communist officials have been 
dragged from their beds at night, and led away to SA barracks. There they have been 
kicked and beaten unconscious. There was blood everywhere. Others have had their 
bones broken. Working class politicians have been tortured to death, and public figures 
killed by these methods.


[A pamphlet distributed secretly in Germany by banned Communists in April 1933]


	 Which of the sources is more useful to an historian studying the Nazi consolidation of power?
		  [12]


	 [You should refer to both sources in your answer and use your own knowledge and understanding 
of the historical context.]
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Question 5 
 


Mark allocation: AO1  AO2 AO3 AO4 SPaG 


19 4 12   3 
 


Question:  Was the panic selling of shares the most significant 
cause of the Wall Street Crash in October 1929? [16+3] 


 


Band descriptors and mark allocations 
 


 AO1  4 marks AO2  12 marks 
 


BAND 4 
 


Demonstrates very detailed 
knowledge and understanding 
of the key feature in the 
question. 


4 Fully analyses the key issue. 
There will be a clear analysis of 
other factors and their relative 
impact set within the appropriate 
historical context. 


10-12 


BAND 3 
 


Demonstrates detailed 
knowledge and understanding 
of the key feature in the 
question. 


3 Partially analyses the key issue 
along with a consideration of the 
impact of other factors in the 
historical context. 
 


7-9 


BAND 2 
 


Demonstrates some 
knowledge and understanding 
of the key feature in the 
question. 


2 Basic analysis while considering 
some other factors and their 
impact. 
 


4-6 


BAND 1 
 


Demonstrates basic 
knowledge and understanding 
of the key features in the 
question. 


1 Offers a generalised response 
with little analysis of impact. 


1-3 


 


Use 0 for incorrect or irrelevant answers. 
 


Indicative content 
 


This content is not prescriptive and candidates are not expected to refer to all the material 
identified below. Some of the issues to consider are: 
 


 answers will provide a reasoned analysis of the issue covering a broad range of long and 
short-term factors to help explain the reasons for the end to the economic prosperity; 


 the dramatic fall in share prices and the resultant collapse in confidence on the financial 
system was the immediate short-term cause; 


 during September 1929 share prices had begun to fall as big investors sold off shares; 


 in late October there was panic selling, especially by the small and inexperienced 
investors; on 24 October Black Thursday 12.8 million shares were sold; there were slight 
rallies but the overall trend was down; 


 the worst day was 29 October Black Tuesday when over 16 million shares sold; the 
market had crashed; 


 however, other longer term factors will also be considered; 


 there was overproduction in industry; the market was flooded with manufactured goods 
and firms did not cut back production; too many goods were reaching the market, but 
there weren't enough people who could afford to buy them due to the unequal 
distribution of wealth; 
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 there was overproduction in agriculture; farms were producing too much food causing 
prices to fall; 


 overseas trade was declining due to increased tariffs; the USA could not sell its surplus 
products to other countries, especially those in Europe; foreign governments responded 
to the 1922 Fordney-McCumber Tariff by doing the same to American goods; European 
countries also found it difficult to repay the loans of the First World War; 


 falling property prices resulted in negative equity; in 1926 property prices fell sharply in 
Florida; 


 there were too many small banks who had over-stretched themselves; 


 candidates may conclude that the panic selling of shares was significant but it was a 
combination of long and short-term causes that ended the prosperity of the 1920s. 


 
After awarding a level and mark for the historical response, apply the performance 
descriptors for spelling, punctuation and the accurate use of grammar (SPaG) and specialist 
language that follow. 
 
Having decided on a band, award a second mark (out of 3) for SPaG. In applying these 
indicators: 
 
- learners may only receive SPaG marks for responses that are in the context of the 


demands of the question; that is, where learners have made a genuine attempt to 
answer the question 


- the allocation of SPaG marks should take into account the level of the qualification. 
 


Band Marks Performance descriptions 


High 3  Learners spell and punctuate with consistent accuracy 


 Learners use rules of grammar with effective control of 
meaning overall 


 Learners use a wide range of specialist terms as appropriate 


Intermediate 


 


2   Learners spell and punctuate with considerable accuracy 


 Learners use rules of grammar with general control of 
meaning overall 


 Learners use a good range of specialist terms as appropriate 


Threshold 


 


1  Learners spell and punctuate with reasonable accuracy 


 Learners use rules of grammar with some control of meaning 
and any errors do not significantly hinder meaning overall  


 Learners use a limited range of specialist terms as appropriate 


 


 


0  The learner writes nothing 


 The learner’s response does not relate to the question 


 The learner’s achievement in SPaG does not reach the 
threshold performance level, for example errors in spelling, 
punctuation and grammar severely hinder meaning 


 
 
 
 
 
 
 
 
 
 
 
3100UF0-1 GCSE History Unit 2B. The USA: A Nation of Contrasts 1910 – 1929 MS – Summer 2018 












Sticky Note

Partially analyses the key issue in the question.



Sticky Note

Considers other factors responsible for Hitler becoming Chancellor of Germany.







Sticky Note

Fear of Communism



Sticky Note

Nazi Propaganda



Sticky Note

Valid and balanced judgement.



Sticky Note

This candidate partially analyses the key issue in the question, namely the Depression being the main reason why Hitler became chancellor, with an analysis of some other factors. 
AO1 - Band 3 - 3 marks - Demonstrates detailed knowledge and understanding of the key feature in the question.
AO2 - Band 3 - 8 marks. Partially analyses the key question and considers the impact of other factors in the historical context.
This response was awarded 12 marks.

SPaG was awarded 3 marks.
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QUESTION 5


	 This question is about the end of the Weimar Republic.


	 To what extent was the Depression the main reason why Hitler became Chancellor of Germany 
in January 1933?	 [16]


	 [Use your own knowledge and understanding of the issue to support your answer.]


	 Marks for spelling, punctuation and the accurate use of grammar and specialist language are 
allocated to this question.	 [3]
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Answer all questions.


QUESTION 1


	 This question is about Nazi economic, social and racial policy.


	 Study the source below and then answer the question which follows.	


	 Source A


[A photograph showing German workers building a section of motorway in 1936]


	 Use Source A and your own knowledge to describe how Hitler reduced unemployment in 
Germany.	 [6]


	


	


	


	


	


	


	


	


	


	







(3100UG0-1) Turn over.


31
0


0
U


G
0


1
0


3


3
Examiner


only


	


	


	


	


	


	


	


	


© WJEC CBAC Ltd.


4


2


Total












3 








 


 


 


 


 


 


 


 


 


 


 


  


4 








4 
© WJEC CBAC Ltd. 
 


MARK SCHEME SUMMER 2018 
 


UNIT 2: HISTORY WITH A EUROPEAN / WORLD FOCUS 
 


2B THE USA: A NATION OF CONTRASTS, 1910-1929 


 
Question 1 


 
Mark allocation: AO1  AO2 AO3  AO4 


6 4  2  


  


Question:   Use Source A and your own knowledge to describe the 
Red Scare.   [6] 


 
 AO1  4 marks AO3  2 marks 


 


BAND 2 
 


Demonstrates detailed 
understanding of the key 
feature in the question. 


3-4 Accurate analysis of the 
source set within its 
historical context. 


2 


BAND 1 
 


Demonstrates some 
understanding of the key 
feature in the question. 


1-2 Source is analysed through 
reference to its content only. 


1 


 
Use 0 for incorrect or irrelevant answers. 


 
Indicative content 
 
This content is not prescriptive and candidates are not expected to refer to all the material 
identified below. Some of the issues to consider are: 
 


 Source A shows an anarchist bomb attack in New York in September, 1920; 


 it shows that people died and there was much damage – people would have been fearful 
of more attacks by anarchists; people feared that immigrants from Eastern Europe 
brought anarchist, radicalist and communist ideas with them; 


 before this, in 1919 there were a series of bombings by extreme anarchist groups most 
notably on the homes of Attorney-General Mitchell Palmer and businessman John D 
Rockefeller; 


 this growth of xenophobia led to the Red Scare;  


 the Palmer Raids whipped up public feeling and saw between 4000 and 6000 suspected 
communists arrested; these raids were illegal but there were few who protested against 
them. 
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Question 2 


 
Mark allocation:  AO1   AO2  AO3  AO4   


8 8    


 


Question: Describe the changing lifestyles and status of women 
during the period 1910 - 1929. [8] 


 
Band descriptors and mark allocations 
 


 AO1  8 marks 
 


 


BAND 3 Demonstrates detailed knowledge to fully describe the issue set 
within the appropriate historical context. 
 


6-8 


BAND 2 
 


Demonstrates knowledge to partially describe the issue. 
3-5 


BAND 1 
 


Demonstrates limited knowledge to describe the issue. 
1-2 


 
Use 0 for incorrect or irrelevant answers.  
 
Indicative content  
 
This content is not prescriptive and candidates are not expected to refer to all the material 
identified below. Some of the issues to consider are: 
 


 women’s lifestyles and status changed greatly during the period; they were important in 
helping the US war effort 1917-18 – 90,000 women served in the armed forces; women 
also worked in jobs traditionally done by men, such as heavy industry, engineering and 
transport; the 19th Amendment gave women the right to vote in 1920; 


 for some women, the 1920s was a period of great change; the consumer boom provided 
exciting opportunities; labour-saving devices such as vacuum cleaners and washing 
machines released women from time spent on domestic chores; 


 the greatest change was experienced by the ‘flappers’; generally women from middle 
and upper class families, these women became more independent in their social life, and 
took a freer approach to their behaviour and appearance; 


 some change was prevented, especially in the rural, religious and traditional areas of 
America; many married women could not afford the new labour-saving devices; 


 candidates may describe the changes in employment, marriage, politics, movie stars and 
the moves towards feminism. 
 


 
  












Sticky Note

Uses the Content of Source A







Sticky Note

Implied use of the source



Sticky Note

Own knowledge



Sticky Note

Own knowledge - demonstrates detailed understanding of key feature



Sticky Note

This response was awarded 5 marks. The candidate used the content of the source and their own knowledge to describe how Hitler reduced unemployment.
AO1 - Band 2 - 3 marks - Detailed understanding of the key feature in the question.
AO3 - Band 2 - 2 marks - Accurate analysis of the source set within its historical context.
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Answer all questions.


QUESTION 1


	 This question is about Nazi economic, social and racial policy.


	 Study the source below and then answer the question which follows.	


	 Source A


[A photograph showing German workers building a section of motorway in 1936]


	 Use Source A and your own knowledge to describe how Hitler reduced unemployment in 
Germany.	 [6]
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Question 2 


 
Mark allocation:  AO1   AO2  AO3  AO4   


8 8    


 


Question: Describe the changing lifestyles and status of women 
during the period 1910 - 1929. [8] 


 
Band descriptors and mark allocations 
 


 AO1  8 marks 
 


 


BAND 3 Demonstrates detailed knowledge to fully describe the issue set 
within the appropriate historical context. 
 


6-8 


BAND 2 
 


Demonstrates knowledge to partially describe the issue. 
3-5 


BAND 1 
 


Demonstrates limited knowledge to describe the issue. 
1-2 


 
Use 0 for incorrect or irrelevant answers.  
 
Indicative content  
 
This content is not prescriptive and candidates are not expected to refer to all the material 
identified below. Some of the issues to consider are: 
 


 women’s lifestyles and status changed greatly during the period; they were important in 
helping the US war effort 1917-18 – 90,000 women served in the armed forces; women 
also worked in jobs traditionally done by men, such as heavy industry, engineering and 
transport; the 19th Amendment gave women the right to vote in 1920; 


 for some women, the 1920s was a period of great change; the consumer boom provided 
exciting opportunities; labour-saving devices such as vacuum cleaners and washing 
machines released women from time spent on domestic chores; 


 the greatest change was experienced by the ‘flappers’; generally women from middle 
and upper class families, these women became more independent in their social life, and 
took a freer approach to their behaviour and appearance; 


 some change was prevented, especially in the rural, religious and traditional areas of 
America; many married women could not afford the new labour-saving devices; 


 candidates may describe the changes in employment, marriage, politics, movie stars and 
the moves towards feminism. 
 


 
  












Sticky Note

The candidate shows detailed knowledge of the terms of the Treaty of Versailles but this could be developed.
AO1 - Band 3 - Detailed knowledge that fully describes the issue set within the appropriate historical context.
This response was awarded 7 marks.
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QUESTION 2


	 This question is about the impact of the First World War.	


	 Describe the main terms of the Treaty of Versailles.	 [8]


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


© WJEC CBAC Ltd.


8

























 


 


 


 


 


 


 


 


 


 


 


  


2 








 


 


 


 


 


 


 


 


 


 


 


  


3 








 


 


 


 


 


 


 


 


 


 


 


  


4 








6 
© WJEC CBAC Ltd. 
 


Question 3 
 
Mark allocation: AO1  AO2 AO3  AO4 


8 4  4  


 


Question:   What was the purpose of Source B? [8] 
 
Band descriptors and mark allocations 
 


 AO1  4 marks AO3  4 marks 
 


BAND 3 
 


Demonstrates very detailed 
understanding of the 
historical context. 


3-4 The purpose of the source is 
fully analysed and evaluated. 
A substantiated judgement 
regarding purpose is reached. 


3-4 


BAND 2 
 


Demonstrates some 
understanding of the 
historical context. 


2 The purpose of the source is 
partially analysed and 
evaluated. A judgement 
regarding purpose is reached. 


2 


BAND 1 
 


Demonstrates only basic 
understanding of the 
historical context. 


1 Answer mainly describes or 
paraphrases the source 
material with little analysis or 
evaluation. 


1 


 
Use 0 for incorrect or irrelevant answers. 


 
Indicative content 
 
This content is not prescriptive and candidates are not expected to refer to all the material 
identified below.  Some of the issues to consider are: 
 


 Source B is a cartoon that portrays alcohol as bad/evil; 


 its main purpose is to turn people against alcohol by saying that it made people poor, 
caused crime and poverty, and wasted grain; 


 it also reflects the type of cartoon that was used at the time in newspapers and the views 
of the Anti-Saloon League; 


 the cartoon is using the war as a way of influencing its audience claiming that alcohol is 
from the Hun Rule Association; it was associated with German beer manufacturers and 
was unpatriotic during the war; 


 the cartoon spells out the evils of drink, as highlighted by the Anti-Saloon League and 
also the Woman’s Christian Temperance Union; it robbed women and children of a safe 
and stable family life; 


 industrialists and politicians had much to gain from this cartoon and the Prohibition 
Movement; Henry Ford was concerned  that drinking reduced efficiency and output at 
work; President Woodrow Wilson banned beer production in September 1918; the 
Volstead Act in 1920 banned any drink containing more than 0.5% alcohol; 


 the purpose was therefore to influence a vast audience into turning against alcohol. 
 
 
  












Sticky Note

Uses the content of the source to consider the purpose of the source.







Sticky Note

Places the source in context. Clearly considers the purpose of the source set against Hitler's foreign policy aims.



Sticky Note

Valid judgement - Clear consideration of the purpose.



Sticky Note

The response clearly considers the content and context of the source in order to reach a judgement about its purpose.
AO1 - Band 3 - 3 marks - The candidate shows a detailed understanding of the historical context.
AO2 - Band 3 - 3 marks - The purpose of the source is fully analysed and evaluated.
The response was given 6 marks.
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QUESTION 3


	 This question is about Hitler’s foreign policy.


	 Study the source below and then answer the question which follows.	


	 Source B


[A postcard produced by the Nazis in Germany in March 1938. 
The map shows the union of Germany and Austria]


	 What was the purpose of Source B?	 [8]


	 [Use details from Source B and your own knowledge and understanding of the historical context 
to answer the question.]
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Question 4 
 
Mark allocation: AO1  AO2 AO3  AO4  


12 6  6  


 


Question:   Which of the sources is more useful to an historian 
studying the popularity of the cinema during this 
period? [12] 


 
Band descriptors and mark allocations 
 


 AO1  6 marks  AO3  6 marks 
 


BAND 3 
 


Demonstrates 
detailed 
understanding of 
the key feature in 
the question. 


5-6 BAND 3 
 


The relative usefulness of the 
source material is fully 
analysed and evaluated. 
Analysis of the content and 
authorship of the source 
material is undertaken to 
produce a clear and well 
substantiated judgement, set 
within the appropriate 
historical context. 


5-6 


BAND 2 
 


Demonstrates 
some 
understanding of 
the key feature in 
the question. 


3-4 BAND 2 
 


The usefulness of the source 
material is analysed and 
partially evaluated. Analysis of 
the content and authorship is 
undertaken to reach a 
supported judgement, set 
within the appropriate 
historical context.  


3-4 


BAND 1 
 


Demonstrates 
limited 
understanding of 
the key feature in 
the question. 


1-2 BAND 1 
 


Copies or paraphrases the 
source material with little or no 
analysis and evaluation 
undertaken. 


1-2 


 


Use 0 for incorrect or irrelevant answers. 
 
Indicative content 
 
This content is not prescriptive and candidates are not expected to refer to all the material 
identified below. Some of the issues to consider are: 
 


 both sources are of varying importance to an historian studying the issue of popular 
entertainment in the USA during this period; 


 Source C confirms that not all Americans liked the popularity of the cinema; it felt that it 
degraded society by showing that cinema portrayed bad things in films, such as sexual 
relations outside of marriage and criminal action; 


 Hays accurately reflects the view of many traditional Americans, especially from the 
Bible Belt who felt that movies such as the It Girl featuring Clara Bow lowered moral 
standards; 


 
  







8 
© WJEC CBAC Ltd. 
 


 


 it is a useful source to understand the negative view of the cinema of some sections of 
American society, but it is from a narrow and religious focus, which only represents a 
minority of Americans; 


 Source D is also useful as it focuses on the first Academy Awards which celebrated the 
movies; it portrays the best aspect of the movies, highlighting the different genres and 
awards given on the night; 


 it portrays the movies as a great success, using words such as glorious, great and 
wonderful; it is trying to show that the movies have been a great success for American 
society, pointing out that the cinema is loved by millions of Americans; 


 both sources, however, are biased and reflect different attitudes; 


 Fairbanks, a leading American actor, writer and director is an expert in his field, and 
strongly shows the attitudes of Hollywood – he is bound to say positive things about the 
cinema experience; he would be firmly opposed to any suggestion made in the Hays 
code in its attempts to restrict the cinematic experience; 


 neither source is necessarily more useful than the other but answers should be able to 
reach a judgement about the varying utility of the sources in an investigation into the 
issue of the popularity of the cinema in the USA during this period. 
 


  












Sticky Note

Considers the utility of the content of source C.







Sticky Note

Attribution of C considered.



Sticky Note

Considers content and attribution of source D to reach a conclusion as to its utility.



Sticky Note

Valid if rather general conclusion. Judgement made.



Sticky Note

The response was awarded 8 marks. The candidate considered the utility based on its content and attribution, with some understanding of the key concept.
AO1 - Band 2 - 4 marks - Demonstrates some understanding of the key feature in the question.
AO3 - Band 2 - 4 marks . Usefulness partially analysed. Analysis of content and authorship is undertaken to reach a supported judgement. 











